i Arithmetic 4x2=72+ 627 — 245 = 1 1
Spelling Zof8=2of B
2 4

applause
pause
cause
because
August
Grammar and punctuation www.themumeducates.com Reasoning
1. Put a circle around the preposition in this sentence. 1. A pack of drinks has 6 cans inside.
e The bear hid under the table. How many cans are there altogether in nine pack?
* The dogis sitting at the bench.
*  They walked through the maze 2. Use <, > or = to fill in the gaps below.
. Do your homework before watching cartoons. 47 + 11 46 + 4
*  He was pushed against the wall. 16 + 18 17 + 17
2. Add a suffix to these words (use a different one each time). | 25 + 58 82 +9 e B

40p  Comic
snow___ 29-18 59 - 26

55p  Packet of Sweets
fear 3. Michael buys two chocolate bars.

He also buys two packs of crisps and a bottle of drink. S5p  |Can of Drink
power
How much does he spend in total? o [Botieoitrink

patient

30p  Packet of Crisps
Sad— £1.10 Chocolate bar




